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% Haryana HSSC TGT Science Question Paper with Answer Key PDF 2023
1. ghemom aR 3 9 2023 i

- lebrate .

1. Haryana Go\g_ hsas decided to c€ Fead o @ fol R e

a :
the year 202 ® han Varsh A > o 7§
e " sicivga s 7

Arogya Vars \
(B) Antyodaya (C) ey AR ay
(C) Antyodaya Aahar varsh \ -
(D) 3T AN
(D) Antyodaya Akshar Varsh
(E) Not attempted (E) BRI
i a1 & wesh i 1 wEm

2. color road markings are used 2. - : |
for all carriageway markings except for i fy =) Siga Teft aEwant fug
parking restrictions. % fou g 2 |
(A) Red (B) Yellow (A) AT (B)

(C) White (0) Blue A JC) = (D) e
(E) Not attempted [z (E)

3. With reference to the AMRUT Mission 3. AMRUT fazm (31 TN LLE RIS |
(Atal Mission for Rejuvenation and Urban wuraeor free) % gew § frfefaa wemt
Transformat.ion), consider the following - =2
statements : fererR . _

1. It comes under the Ministry of Jal 1.3 9T vIfFq HATS o ST AT R |
Shakti. \
THH Teh Ie3d I8 GHead e 8 fa
2. It'sone of purpose is to ensure that every 2 TP e g
household has access to a tap with the TS TR 1 T ST oot el 3
assured supply of water and a sewerage Has FRE 3Ty —&_P[ |
connection. .
Which of the statements given above fefciad 3 | S-T FoF I B ?
is/?re correct ? e (A) Fae 1
A) 1 only Tl
(B) Neither 1 nor 2 W (B) Ta 14 'tﬁ 2
(C) Both 1 and 2 AC) 19 23HI
(D) 2 only @ *Had 2
(E) Not attempted (E) ST

4. Urttder the G20 Presidency of India, the 4. WA h G20 NI * dgd Tact
1% Environment and Climate Sustainability TR R erary feerar w1l agg
Working Group (ECSWG) Meeting was (.. wm.zsey M. ) Y daw el I
held at H T ?

(A) Chennai (B) Bengaluru (A) =T EUEY
(C) Mysuru (D) None of the above (C) ﬁ;g (D) IR o | HIS gl |
o (E) Not attempted (E) TR
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5. Which of the following is not a basic
counselling skill ?
(A) Empathy
(B) Paraphrasing
(C) Sympathy
(D)
(E) Not attempted

Building a connect

6. The present day Haryana came under the
control of East India Company of Britain in

(A) 1756 (B) 1858
(C) 1857 (D) 1803
(E) Not attempted

7. Following are some of the causes of
delayed motor development except

(A) Poor physical health

(B) Positive environment

(C) Improper growth conditions
(D) Inadequate nutrition

(E) Not attempted

8. The Genetic Engineering Appraisal
Committee comes under the

(A) Ministry of Commerce

(B) Ministry of Agriculture

(C) Ministry of Environment, Forest and
Climate Change

(2l []

(D) None of the above
(E) Not attempted

9. Famous Urdu poet Altaaf Hussein Haali

was born in
(A) Sonipat (B) Panipat
(C) Rohtak (D) Ambala

(E) Not attempted

SC-TO09

5. P & #-an afad T B
TR ?
(A) TEfa
(B) WETIETE
(c} wwmf

(D) TS AT FAMI
(E) 3ruaTtéa

6. adHM BN e % S 3fem Hh &
frror o hE AT o7 7

AX) 1756 (B) 1858
(C) 1857 [=; 803
(E) &

7. faaftaa @it o & $8 Fror f=fafae
&, 39T JUETE B
(A) @UE SF ey
_[B) Thcdeh gieTor
(C) 3fa faerra 1 fufy
(D) ST9Te qIyoT
(E) 3T9aTiyd
8. SHfew Soffer qeerie afify g
HATHI % JTta e R 7
(A) TTfTSY TaTe
(B) PV e
[©) Taiaw, a7 3 Sy Thads
LPISD)

(D) IWe § § 13 T
(E) 3rvamtya

9. Wiig 3¢ B srears g el H o
TET g3 o

(A) @faq {B) wefiaa
(C) Uga=® (D) =TT
(E) Irvmig
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10.

11.

12.

13.

14.

Join Telegram Group "HaryanaJobs.in"

Chaudhary Charan Singh Haryana
Agricultural University is popularly
known as
(A) HMU
(C) HAU
(E) Not attempted

(B) HEU
(D) HOU

Pradhan Mantri Sukanya Samriddhi
Yojana was launched in

(A) 2014 (B) 2017
(C) 2015 (D) 2019
(E) Not attempted

The teacher can ensure support to the
student in the following ways except

(A) Building rapport
(B) Encourage unmasked expression of
emotions

(C) Being judgemental
(D) Ensuring confidentiality
(E) Not attempted

Which of the following organisms referred
to as the farmer’s ‘friend’ ?
(B) Termites

(D) Ants

(A) Earthworm
(C) Fishes
(E) Not attempted

The process of integrating new perceptual,
motororconceptualmaterialorexperiences
into existing schemata is termed as
(A) Accommodation
_AB) Schema
(C) Assimilation
(D) Equilibration
(E) Not attempted

[=];x (2]

SC -Tog
10. Nt = firg ghamn Fiy Rt
il (A) T (B) W31,
L) =T, (D) TA.3.Y,
(E) T5amad
11, weEE g g AT i ¥
$1 TS |
&) 2014 (B) 2017
2015 (D) 2019
\(@;mﬁﬂ
12, Toregss e O & forE T Al & AT
S 51 G gRTEd H a8 ?
(A) dTeTH SSHT
(B) it € Ser atfeAtEd
Hreated T
(D) ToteraT gRfREd S
(E) 3TRITTHd
13. Frefafaa § @ fem Sfa =1 a1
for’ @1 @1 ® 7
[(&) FF==n (B) €
(C) wafer (D) wifear
(E) ITSRITéd
14, U STefae, T A1 A= A
@ﬁ@ﬁﬁ@@ﬁmﬁqﬁfﬁm?
YT P el T B
(A) TERISH
(B) T
(C) ATcHETd
(D) EdeH
(E) 3rsfed
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15.

16.

17.

18.

19.

Join Telegram Group "Haryanadobs.in" |

All motor vehicles operating in a public
space must be insured against

party risks.

(A) First (B) Null

(C) Third (D) Second =

(E) Not attempted 3
EAE

Which one of the following skill is
not included in the Critical Life Skills
programme ?

(A) Financial literacy

(B) Economic literacy

(C) Child care and education

(D) Digital literacy

(E) Not attempted

Which of the following country recently
issued its first batch of forest carbon credit
stamps to reduce carbon emissions ?

(A) China

(B) Japan

(C) India

(D) None of the above

(E) Not attempted

Haryana has a total of
sub-divisions at present.
(A) 65 (B) 73
(C) M1 (D) 69
(E) Not attempted

Learners actively construct the meaning
of structures and identify the principles on
their own in

(A) Discovery learning

(B) Logical learning

(C) Competitive learning

(D) Creative learning

(E) Not attempted

15.

16.

17.

18.

19.

SC-TO09

méaﬁiﬁwqﬁqﬁmﬁwamﬁmam
qefry Ffadt % fawg sfifoa a4
HEEF & |

(A) 5o
¥C)) T

(E) 3rvatéd

uga@isﬁaﬁra?rwmmﬁﬁmfa%ﬁ

3§ H-T Fee e T8 7

(A) focfra wnaran

k) | arrfeies G

(C) o @ 3 fnem

(D)

(E) oiHd

ﬁmﬁﬂféﬁﬁﬁm%ﬂﬁm‘aﬁﬁw

m@mw%mmwm

el T AT TR a9 S R R 7
)| = .

s(B) STIH @,:;;&
(C)m @"-E]

(D) I | & HIg T

(E) ITSTrEd
g | giemon § -

(A) 65
(C) 71 (D) 69
(E)

3q-Te @ |

frerefl @l wu & gETs & A H
frior e 3 3iv fagrdl 1 TEEH W
ic il
(A) feepatt @fHm
(B) dfehen &M
(C) wicreqeff f3ram
,mmﬁm

(E) 3TSrRTHd
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20.

21.

22.

23.

24.

Join Telegram Group "HaryanadJobs.in"

This village had the first village secretariat
of Haryana

(A) Haibatpur

E n
(B) Nilokheri *h‘.%gﬂ
 [EeE

(C) Kumhariya

(D) Kunjpara
(E) Not attempted

In this year the campaign of Beti Bachao
Beti Padao was started in Haryana

(A) 2013 (B) 2014
(C) 2015 (D) 2019
(E) Not attempted

The Prestigious Equator Prize is given by

(A) UNDP (United Nations Development
Programme)

(B) FAO (Food and Agriculture
Organization)

(C) WHO (World Health Organization)

(D) None of the above

(E) Not attempted

Mixing dals chana, rajma and sorting is
an example of

(A) Guided play

(B) Dramatic play

(C) Exploratory play

(D) Structured play

(E) Not attempted

In Haryana, Teej festival is celebrated to
(A) welcome the girl child

(B) fly the kite

(C) welcome the rainy season

(D) None of the above

(E) Not attempted

20.

21.

22.

]

23.

24.

SC-Tog
T T 5 FREA B Teen 7w wfEe ,
A R |
(B) Hremrad
(C) Frafem
(D) FsTam
(E) 3=t
38 T4 RETN § o a9 9 ugran 3
e g% g3m
(A) 2013 (B) 2014
fCy 015 (D) 2019
(E) AvTRra
yfafssa e W1 Qs fhas g fea
AR ?

A %;:fm)a“rn“r (TS AT SaAAUHE

(B) TH.U.3N. ($3 TS Hfiheat
JTTTEAYH)

(C) S U3, (T8 BeY INHISHIR

(D) SR H F g &I

(E) STv=téa

A=A, T et 370 1 366
IR B

(A) Fefima wa

(B) AT T

_ LRl

(D) wifa @«

(E) SAvaTtea

ghm & e v e S @
(A) FAHT b TG * feTT

(B) W I3A & e

() =t g % w@wE % fo

(D) 374 A B P T

(E) Iwféd
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25.

217.

28.

Join Telegram Groupr "HaryanaJobs.in"

Third battle of Panipat was fought in
(A) 1526 (B) 1761

(C) 1726 (D) 1556

(E) Not attempted

National Initiative for Proficiency in
Reading with Understanding and
Numeracy (NIPUN BHARAT) aims to
achieve universal foundational literacy

and numeracy by the end of Grade 3 by
the year

(A) 2025 —- 26
(B) 2028 - 29
(C) 2027 - 28
(D) 2026 —-27
(E) Not attempted

Forests are included in the Listin

the Seventh Schedule of the Constitution
of India.

(A) Central

(B) Concurrent

(C) State

(D) None of the above
(E) Not attempted

It is a time table of each class and
of sections thereof which shows the
distribution of subjects in each class
along with teachers for each period

i
[=]

(A) Teacher time table

=

(B) Consolidated time table
(C) Vacation time table

(D) Class time table

(E) Not attempted

25.

26.

27.

28.

SC -T09

el 1 AR 7 FA @

(A) 1526 kB)l 1761

(C) 1726 (D) 1556

(E) T

g 37 37 F % | e H e

oo g e (P ) 3 TR
a9 a% U 3 F i as dEvls e
ST 3N 3 FE T wA e 7

(A) 2025 - 26
(B) 2028 - 29
(C) 2027 — 28

(D)| 2026 - 27

(E) Twamta

TTE % GRaE i wrad! g § o
H et o e foRan T @
(A) hei

(B) | THadi

(C) T
(D) ST ¥ | HIE &I
(E) Iyt

= § ¥ F-T1 T e IR IS
ST S T T e R, ST
Fafy ¥ R freet & TU-a1Y Y&
e o fywat % faw i @i 2 2
(A) e wwa @ieft
By wfera wwa wrieft
(C) Y T Wt
(D) e @ @il
(E) svafem FIEE

]


vijay
Rectangle


vijay
Rectangle


vijay
Rectangle


vijay
Rectangle



i

29.

30.

31.

32.
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indicates

(A) Parking lot — scooters and motor cycles

)
(B) Scooters and motor cycles repairing
(C) Scooters and motor cycles prohibited

(D) None of these
(E) Not attempted

The ‘SaaRthi App’, recently seen in the
news, is related to

(A) Old Age Pension

(B) Child Development

(C) Securities Market

(D) Women Protection

(E) Not attempted

For effective management of disasters, the
Disaster Management Act was passed in

the year

A) 2004
((B)) 2005 '?5?1
(C) 2006 E@'E
(D) 2007

(E) Not attempted

Plants and photosynthetic bacteria are

also called as

(A) Autotrophs
(B) Chemotrophs
(C) Heterotrophs

(D) None of the above

(E) Not attempted

29.

30.

31.

z9rtar 8

(&) wifebm e - Tget 3T AN AT
(B) et 3R e FFHHel FEA

(C) TR 3 Hie @mfre fay

(D) 378 & HI3 T

(E)

aret & & T § g e
Heifera 2

(B (A) gerar 4ed &
ﬁﬁ"‘f{-_‘ii(B) oo fereprar @

(Cy wfengfa a9 &

4D) Tfga gam |

(E) STS=Tiad

JAT9ET & THTE JaeH & fdu HAger g
siferfrm fora a wifea fopam mam o 2

(A) 2004

148 2005
L)

(D) 2007

(E) Aw=nfa

32. ﬁaﬁsﬁxwréséwsﬂwaﬁaﬁ

H a1 ST B
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35.

36.

37.

The theory of trial and error which ig of

Join Telegram Group "HaryanadJobs.in"

great significance in the field of Educati Chll %, ECc0

is propounded by vation e e grq fepan ™ |

(A) Edward Thorndike Eé—% @@g 1 AR

(B) Albert Bandura ' B) o g0

(C) Ivan Paviov ey @ CRIES

(D) B. F. Skinner (D) #. TE. fert

(E) Not attempted (E) SroaTi

In Haryana, Mahila Avam Kishori 34, gfmn A feen wd TRl @ pisal
Samman Yojana was launched in T & H1 TS |

(A) 2018 (B) 2021 (A) 2018 (B) 2021

(C) 2020 (D) 2019 2020 AB) 2019

(E) Not attempted (E)

is a philosophy and method of 35. W7 FRIE %l TH T 3 gld fes
teaching languages where a particular Th %é’m 7T FHATHS 3 amnih
language is taught more wholly in Fept @ 3:rf?\4$ Tﬁ w9 | YT 1Al 2
experiential and social ways and not it feemt § T derT ST 2, 98 8
;i‘;gg i ‘t’a"z i (A) EF gfeehIo
ructured approac
(B) Tfis i@ gieeehrm
based h

O sostmetsponn | g e

(D) Whole language approach Eﬁiﬁi ot sy gfeehi

(E) Not attempted (E) Frwanterd

MGNREGA was launched in this district 36. MGNREGA 2006 H ¥d ¥R g
of Haryana by Govt. of India in 2006 g ¥ 3@ fe § 1E T

(A) Sirsa (B) Panipat e @) artad
(C) Sonipat (D) Gurugram AC) Erfiem (D) T

(E) Not attempted (E) ITfd

. i Id 37. w1 g 3 9% 1966 3R 1970 H TAHR

Hawa Singh won the Asian Games go ' 2 .

medal in consecutive editions in the we § Refted # ¥ fpw @ & fog
1966 and 1970 for which of the following uNRIERC IR @l TeH Gﬁ?ﬂ ?
games ? on XA) WRIRTEH (B) efireA

(A) Weight liftng ~ (B) gagir:;” ) T LSERIEl

: o
(C) Running (D) (E) T
(E) Not attempted
-9-
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g

3 : .
8. Consider the following statements with
reference to Pradhan Mantri Fasal Bima

OjJana Scheme :

1. It Provides a comprehensive insurance
Cover against the failure of all food and
oilseed Crops.

2. It prescribes a premium of 2% to be
paid by farmers for all Kharif crops and
1.5% for all rabi crops.

Which of the statements given above
is/are correct ?

(A) 1 only

(C) Both 1and 2
(E) Not attempted

(B) Neither 1 nor 2
(D) 2 only

39. In this approach, the learner’s intention
is just to complete the task requirements
instead of properly understanding the
content
(A) Deep approach
(B) Surface approach
(C) Abstract approach
(D) Strategic approach
(E) Not attempted

40. Wangari Maathai was a famous
environmentalist of which of the following

countries ?
(A) Kenya
(B) India E,ﬂg‘
(C) Nepal o (8]

(D) None of the above
(E) Not attempted

41.

y7.9% Trip meter
(C) Odometer

(E) Not attempted

(B) Tachometer
(D) Speedometer

D

indicates engine speed in RPM.

SC-.T0

38. WUHHHA A ST FSET % TEy
Fr=fefaa st w fmm =6t .
1. &¥ft @ wd foeted wHat % @ ;
T TH guy &imy et @ |
2. aft Wl wEe & 1T 2% 3t of
waAl % TAY 1.5% w1 fftem

H gg fepamt = fAfdse st B

37 H Y HH-GT/A FAT I R ?

(A) hered 1 (B) Ad 178 2

(SF 13 2gHT (D) Faa 2

(E) 3r9mfea
39. 3@ gfewiv & Hiwa 9 +1 3er Ty

®I 36 T Uz F g9 Rk wE Hi

HETIHATAT h1 QT HAT B

(A) TEU Ffeemmivr

AB) wazr gfeewm
E’w(C)wg@aﬁw
%%(D)wﬂﬁmq@aﬁm

(E) 3twanfira

40. I werd frefafaa o & frm 2w %
TG wateruETd & ¢

()| i

(B) Wi

(C) urer

(D) I9Ted 4 & #Ig &

(E) Tvamiyd

351 6 TIf B RPM § @i

41.
(A) fo9 ez o
(C) 3Ny (D) TfrgrieX
(E) 3rvafya

-10-
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42.

45.

Join Telegram Group ‘;HaryanaJobs.in"

Children with deafness and hard of
hearing can be identified with the help of
(A) Optometry

(B) Audiometry

(©)

(D) Both (A) and (C)
(E) Not attempted

Stimulator

Ayushman Bharat Pradhan Mantri Jan
Arogya Yojana (AB PM-JAY) offers a sum
insured of Rs. lakh per family for

secondary as well as tertiary care.
(A) 1

@5

(E) Not attempted

oho

i

Which of the following should be taken
into account for learning to be most
effective ?

A) Language

B) Social behaviour

D) All of the above

(

(B)

(C) Cultural behaviour
(D)

(E) Not attempted

The gradual and fairly predictable change

in the species composition of a given area
is called

M Ecological Succession

(B) Ecological Foot Print

(C) Ecological Niche

(D) Ecological Pyramid

(E) Not attempted

42.

-11-

43.

EEE (e 5
8 g

44,

45.

SC-T09
qEA 3 F g A Aol B TEE
fpmefY wETTA A A HHA R 7
(A) ATZHSA

(B)] szt

©)

(27 (A) 3T ()

(E) Irvraférd

T GUEEA T AR AT
(AB PM-JAY) Sfa afEm ®.
Waﬂtwm%maﬁm
e 2 |
(A) 1

g

;ﬂ@ﬁﬁwﬁwﬁlaﬂﬁ%%ﬁ
Srfraa o & FRd o= 8 W@ S

a1y ?

(A) HTHT

(B) THTTSHh SFATER
(C) HiEpiteh HTER
@) 3w

(E) ITSRITTEa

m%ﬁwaﬁﬁwﬁﬁﬁmﬁ
Wﬁwwmﬁ
gl I 8

QT?{@IWW

(B) wiitfeafaehr waiE
(C)qr&fiuﬁaﬁﬂﬁa

(D) qrifefada faatie

(E) téa
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46. On 1 November 1966, Haryana State
was formed on the recommendation of
this parliamentary committee
(A) Faizal Ali
(B) P.S. Kairan
(C) Sachhar
(D) Sardar Hukam Singh

(E) Not attempted

47. According to which among the following
Acts, a valid driving licence is necessary to
drive any motor vehicle on public roads ?
(A) Motor Vehicle Act, 1998

(B) Motor Car Act, 1988

(C) Motor Vehicle Act, 1988

(D) Motor Bike Act, 1998

(E) Not attempted

Haryana Udayisa_____ system in
Haryana.

(A) Solar power

(B) Non-conventional energy generation
(C) CNG bus service

(D) Electric vehicle

(E) Not attempted

48.

49. Rapid Metro Rail Gurugram Limited was

opened to public in
(A) 2012
(C) 2014
(E) Not attempted

(B) 2016
(D) 2013

located in the northern Bay of
Bengal is the world’s largest single patch
of Mangrove Forests.
(A) Sunderban
(B) Munnar
(C) Gahirmatha
(D) None of the above
(E) Not attempted

50.

Join Telegram Group "HaryanadJobs.in"

SC -TO09

46. 39 vadm afufa £ e w1 T
1966 ! ERETN T=T 1 T4 R T

(A) ot et
B) N, T, FH
(C) &=
0 (5 wreeme g fére
TR () st
a7. Treafafea § @ f6d yfufem ¥ 3 Tm
qﬁamasaﬁmﬁﬁmmmaﬁm
3 foru e AY TC TG SEEE 7
(A) He A Jrfufam, 1998
(B) Hiet R HAfufFm, 1988
T aTed AfHIH, 1988
(D) TeX sTgeh AfufEH, 1998

(E) ITs=nfed

48. mm,mﬁ@_mﬁl
(A) ¥R wifed
(B) TR-uHufE St eI
,ﬁ@?ﬁaﬂﬂm
(D) ferga A&
(E) TSR

a9, e 31 Yo eI fafide T ST F
fiu e e T o1 7

(A) 2012 B) 2016
(C) 2014 [(D)] 2013
(E) rsia

50. st & I @ # o o
mmwﬁuﬁaaﬁwm&a%l
A
(B) AN
(C)
(D) I i & g T
(E) FSTéa

-12-


vijay
Rectangle


vijay
Rectangle


vijay
Rectangle


vijay
Rectangle


vijay
Rectangle



255

52.

53.

54.

Join Telegram Group "HaryanaJobs.in"
: sC - T09

the complex ion, [F 3-
g 1% th [Fe(C,0,),I" " and
[Co(en)3 e coordination number of
poth Fe and Co is N

51. wireered 3 [Fe(C0 4)3}3‘ <18
[Co(en)3]3+ # Fe 3l Co At bl At

(A 3 (B) 6 e 8

c) 4 (D) 2 (A) 3 6

(E) Not attempted C) 4 (D) 2
(E)

In Griffith experiment, Mice infected with
g strain (virulent) die from

(A) Dengue ;

(B) pPneumonia infection E%% i—éﬁﬁm N
(C) Malaria infection (C) AT HHA
(D) Tuberculosis D) SRl

(E) Not attempted (E) s

The angle of dip at a certain place is 30°.
If the horizontal component of the earth’s

magnetic field is H, the intensity of total % W & 1 Tl 2
magnetic field is
Ho (A) 2 ® 5 B
(A) H2 ® 5, * T
, 2 N 5 H o
| 2H (C) HV3 O) [z
S(C) HV3 0 7 J3
(E) Not attempted s (E) SRR
The primary and secondary immuneé 54. ;rmfiﬁ\% 3 fadas Slﬁ'\'(%ﬂ%rﬁrw T
responses are carried out with the help of wd A “ﬁ""@ .l CrIL W W
two special types of Iymphocyies present £ FEral A & T 3
in our blood i.e. A) B-Wﬁz @ G-

55.

and G-lymphocytes
(B) K-lymphocytes and T-lymphocytes
(C) N-lymphocytes and M-lymphocytes
() B-lymphocytes and T-lymphocytes
(E) Not attempted

(A) B-lymphocytes

The irritant red haze in the traffic and
congested places is due 1o oxides of

(A) Carbon (B) Nitrogen
(C) Phosphorous D) Sulphur
(E) Not attempted
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ke

56. What is stratification ?
(A) Radial distribution of Idiff
occupying same levels '
(B) Vertical distribution of different species
occupying different levels -
_(©) Vertical distribution of sameé specles
occupying different levels
(D) Transverse distribution of different
species occupying different levels

(E) Not attempted

erent species

57. If tube length of astronomical tele_scope
is 105 cm and magnifying power is 20 for
normal setting, calculate the focal length

of objective.

(A) 10cm (B) 25¢cm

(C) 20cm (D) 100 crng(w
(E) Not attempted N Yi@

58. What is produced by bacterium Bacillus
thuringiensis ?
(A) Gall infection
(€) Amylase
(E) Not attempted

(B) Bt toxin
(D) None of the above

9. In lead storage battery is used
as anode.
(A) lead dioxide
(B) lead o
A€) lead sulphate %—?‘f
]

(D) lead oxide
(E) Not attempted

0. Decomposition is largely
(A) The nitrogen requiring process
4B) The carbon requiring process
(C) The Sulphur requiring process

(D) An oxygen requiring process
(E) Not attempteq

56.

57.

58.

59.

60.

SC - Tog

Tarlintor #4918 7
&1 =i feam
ﬁfﬁnwﬁm@mﬁmwﬁﬁ
&1 caad fado
(C) Tafir= Tl W Tga areft U # Ftf
%] dadd o \
(D) farfer =l @ T aeft farfir st
1 FIEY ferawn El:f@

(E) Iramtea W@

af e g i A N @S 105 cm
3t s wifed 20 amT=T fom=mE < form
2, A sAfFea hl Bihd AT @

(A) 10cm (B) 25 cm

(C) 20 cm 100 cm
(E) 3vaTfyd

ey S RIGTi2ra gra = Iedtfed
fobam ST 8 2

(A) foxt gspmor  [(B)] i i

(C) TS (D) 39 § & i &
(E) A9t

REREIAT . Fgm sy
T 2T fema S R

(A) OIS STRIATFETES

(B) =S

(C) oIS HoWhe

(D) ©g 3iieaTEE

(E) ITsmidya

Wﬁ@ﬁqﬁm@\%l
(A) T e areft sl

(B) HTe <TE areft

(C) & =e areft whean

(D) sFefism we areht whwan

(E) 3rvfaq
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61.

62.

63.

64.

65.

Join Telegram Group "HaryanaJobs.in"

A typical nucleosome contains
(A) 200 bp of DNA helix

(B) 2700 bp of DNA helix

(C) 20 bp of DNA helix

(D) 10 bp of DNA helix

(E) Not attempted

Motion of a moving electron is not
affected by

(A) An electric field applied in the
direction of motion

(B) Magnetic field applied perpendicular to
the direction of motion

(C) An electric field applied perpendicular
to the direction of motion

(D) Magnetic field applied in the direction
of motion

(E) Not attempted

The ovule is a small structure attached to
the placenta by means of a stalk called

4A) Chalaza (B) Micropyle _
(C) Funicle (D) Hilum @,Sg
G

(E) Not attempted

Which of the following is the first genetic
material ?

(A) DNA

(B) Both DNA and RNA
(C) Histones
(D) RNA
(E) Not attempted

Common name of CﬁHSOCH3 is
(A) Acetone (B) Anisole
(C) Acetophenon€ (D) Ether
(E) Not attempted

-15-
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61. @ﬁm:ﬁaﬁ@“ﬁ/@ﬁ‘
[A) e e 6 200 bp
,(B)mgm%mmbp

EEE () e e & 20 bp
B El (D) Sroe 2fered % 10bP

(E)

2, e T 1
qurfa g1 gt 2 |
(A)nﬁ‘ﬁﬁmﬁwwwm
@nﬁ@ﬁm%éwmﬂmﬁﬁﬁm

&
(C)Hﬁﬁﬁm%mﬂ“ﬁ@ﬁgﬁ

&

nﬁrﬁﬁmﬁw@ga@waﬂ

(E) T

m@@ammmﬁ

e S0 % mew & g9 A 2

(A) T (B) TS g

[(C] I+ (D) it
(E) ITSRmtEd

frefRad 3 & - T SRR
T B 7

(A) ST

B) ¥ 37 FWET T

C) fawe

D) | TTY

E) aTvataa

R

63.

64.

—_—~

—_

—_

I T 2
(B) whdr
(D) ¥

65. C.H,OCH, %
(A) THEH
{0) T
(E) IS

~ = =
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37

66. Overall ability of thé host to

67.

69.

70.

fight the

- ferred by
disease causing organisms: con

the immune system iS called |
(A) Immunity (B) Excre-tlot:lon
(C) Transpiration (D) Respira

(E) Not attempted

Lenz's law is consequence of the law of
conservation of

(A) charge (B) energy

(C) mass (D) momentum

(E) Not attempted

The energy of a charged capacitor is
given by the expression (q = charge on
the conductor and C is its capacity)

2 q
q
# 2¢ ®) 22
D) &
(C) 2qC 0 T

(E) Not attempted

Parturition is induced by a complex

(A) ATP (Adenosine triphosphate)
AB) Neuroendocrine mechanism
(C) Neuroexocrine mechanism
(D) None of the above

(E) Not attempted

The separated bands of DNA are cut out
from the agarose gel and extracted from
the gel piece. This step is known as

(A) Recombination (B) Elution BLtd
(C) Ligation ([)}” Lysis O
(E) Not attempted

%]

o~

5E

66.

67.

68.

69.

70.

SC—TQQ

ﬁmwﬁﬁmmﬂ'ﬁrﬁiﬁiﬁﬁ
et AT S a A
Hgard! @ |
(A) e (B) IeaoH
(C) TSI (D) YaH
(E) FATHa
ﬁaamﬁw____,%ﬁtm%ﬁmm
gfom 2 |
(A) FE (B) ¥
(C) T (D) EaT
(E) IrSafed
s AR e FS __FW
sifyea BRf | (q = ST T 3
C 3geh! GTial §)
? q_
(A) = B) 52
2
q
(C) 29C (D) =
(E) A5=TTéa
Ted Th S g IRa BT &, R
(A) T (TR gTehiehe)
(B) =ITSIshTs JorTedt
(C) FNTHIIHTE Tt
(D) Iwg | & Ig
(E) T5ATTéa
Sl A e T e & 3R w3 g
frebrer foran wman 2, @ oww oW
& @ |
(A) FTEaISH (B] &me
(C) SYTq (D)éﬁﬂ?
(E) 3rvmféa
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(A) 89.1°C (362.1 K) Join -"I:élvégljuramd
(B) 98.9°C (362.9 K)
(C) 99.6°C (372.6 K)
(D) 99.9°C (372.9 K)
(E) Not attempted

The gene pool (total genes and their alleles
!n a population) remains a constant. This
is called

(A) Genetic variation

(B) Genetic migration

(C) Genetic drift

(D) Genetic equilibrium )

(E) Not attempted

The object 2.5 cm high is placed at a
distance of 10 cm from a concave mirror
of radius of curvature 30 cm. The size of
the image is

(A) 9.2cm (BY 7.5 cm
(C) 5.6 cm (D) 10.5cm B
(E) Not attempted ?[ﬁ

Which of the following consumption has
been claimed to increase the performance
of athletes and race horses ?

(A) Pedicel (B) Corolla
(C) Calyx (D) Pollen
(E) Not attempted

The observed order of carbocation
stability is

(A) CH3 > CHSCHQ (CH3)2(+)H > (<;+13)3
B) (CHs)s C< (CH3)3 CH <CH3 < CHj CH2
C) GHy < (CH)s C < (CHak C CH< CH30H2

~MINeE

roup "Hgjvag otz K) N
EEE (B) 98.9°C (3629 K) o
B [G) 99.6°C (3726 K) AP

(
(
(D) CHg < CH3CH, < < (CHa) CH<(CH3) C
(

17-

(D) 99.9°C (3729 K)
(E)

2 | 5. B e
(A) ST R % 7,
(B) AR THET 3 U
(C) AT T8 \ ﬁ /\"
)| Frgafirs HIE S
(E) FETEd PARIR

73. 2.5cm%a1§a1€fﬁqasavgaﬁaaﬁnﬁ?

30cmaa@maa&mﬁ10cmaﬁtq
mr@w%lqﬁrﬁawm%

(A) 9.2cm (B)| 7.5 cm ¢

(C) 5.6cm (D) 10.5¢cm o

(E) T Q
74, freffiga & ¥ e STHM H TUEI ¢

W%ﬁﬁwﬁwﬁmmﬁ

T 2 7

(A) T3t (Afsd=) (B) @ I

(C) 4= (D)] T

(E) AT

75. FEthe R @1 watd U 8

(A) CHg > CH3 CH, > (01-13)2 CH> (CH3)3C
(B) (CHS)SC < (CHS)SCH <CHg < CHy CH,
(C) cH3 < (CHS)SC < (CHs)2 CH< CH30H

(D) CHg < CHs CH, < (CHa)s CH < (CHg)g'

(E) JTSATTHA
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B

jvity O
76. Gross primary productwlty

78.

79.

fan

ecosystem is the ‘ -

(A) l:ate of production of organic ma
during photosynth I

(B) Rate of production of organ

tion
durin transpira
; n of organic matter

esis
c matter

(C) Rate of productio
during respiration

(D) None of the above
(E) Not attempted

Colours of thin films result from
(A) Dispersion of light
(B) Scattering of light
(C) Absorption of light
(D) Interference of light
(E) Not attempted

Which intestinal parasite causes
ascariasis ?

(A) HIV

(C) Plasmodium
(E) Not attempted

(B) Ascaris
(D) Salmonella

The production of dihydrogen can be
increased by reacting carbon monoxide of
syngas mixtures with steam in the presence
of catalyst.

(B) Lead arsenite

(D) Iron chromate

(A) Iron
(C) Lead
(E) Not attempted

Which of the following has greatest
biodiversity on earth ?

(A) Himalayan forest
(B) Western Ghat forest
(C) Andaman-Nicobar forest

(D) The largely tropical Amazonian rain
forest

oha

alN|

SC -TN

76. et mififeufesh 3 1 @A T

JeTTegha At 2
(] e szcrn 3 A T ey

Iared Hl &l
(B) ATSqredS * AH HEH TEY 3

IeqreT il &
El*:[:l (©) gm%ammmm%m

™ (D) wdw & @ g
(E) Irvanféa

(A) RIS HT JEIOT

(B) WeRTYT ST Tehiuf

(C) maﬂaa'gﬁqv[
ThTEN T SAThToT

(E) Irvféa

Prerfrf # & B3 a1
W@TQ%W% ?

(A) TIATEH (B)| v=rf
(C) W=HIfea™ (D) HieHMa
(E) T

TRERSEA FI ST I 9
Sufefa o v = Ty e st
e AHFETES AR gr Sew s

Hehal 8 |
(A) W& (B) TS JTEATEE
(C) Hran D) mm

(E) AR

g0. frffga A & gedt w waifere Safar
%aﬁ%?
A) e & e
)qf%rﬂﬁsrra%saq
(C)mﬁﬁmﬁw
{D)a%&qﬁmmﬁ%ﬂwm%
gt s

=1 afomT R

79.

(E) Not attempteq

| e\ AT
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81.

82.

85.

TE = 100 sin
I = 100$in(1o
instantaneou
Current, then
and current gre re
(A) 70.7V and 7¢.7 mA
(B) 141.4vand 141 44
(€) 141.4V and 141.4ma
(D) 70.7V and 79 74

(E) Not attempteq

(1 00t) Volt and
Ot + %)mA are the

Which hormone is secreteq by the ovary
In later phase of Pregnancy ?

(A) Thyroxin (B) Relaxin

(C) Prolactin (D) Adrenaline = “g&
(E) Not attempted &l

At constant temperature, the pressure
of a fixed amount of gas varies inversely
with its volume. This is known as

(A) Charle’s law

(B) Avogadro law

(C) Gay Lussac’s law

(D) Boyle’s law

(E) Not attempted

Which theory attempts to explain to us
the origin of universe ?

(A) Speciation theory
(B) Natural selection
(C) Big Bang theory
(D) Mass theory

(E) Not attempted

Which of the following radiations has the
least wavelength ?

(A) y-rays
(C) a-rays
(E) Not attempted

(B) X-rays
(D) B-rays

-19-

81.

82.

83.

84.
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SC -To9

If& E = 100 sin (100t) Volt 3R

| = 100sin(100t +/)mA dreest 3t forem
% ATRITAR O &, A Ao T forega %
rms W9 SHH9T: §

(A) 70.7v 3 70.7mA

(B) 141.4V 3 141.4A

(©) 141.4V 30 141.4mA

(D) 70.7V 3 70.7A

(E) Aw=rfia

T & Wadl (1)) = ¥ FEny
S HH-T1 FEH arfea fwn smar @ 7
(A) oTsEifae (B) ferfaam

(©) Teifaz (D) ufgfem

(E) Awafaa

Frra aomm W, g 6w it e
1 T Fh IATTA 6 HA SR
w d feffa g g | =@ FEd B |
(A) =" =1 fm

(B) warE! w1 fem

(C) 7 THm = Frm

(D) si=et =1 fem

(E) 3Twmird

HH-w frgra & sreris Y Ieat gHem
T TI HLAT 8 ?

(A) Tafmear fagra

(B) STehfceh =

C)| fem 3 fergra

woas(D) soEmE fagia

e (®) S

85. Trfafga o o e fafertor Y qoeedan
TEd % Bt ? .
y-Tee () x-fet
(C) o-Frwl (D) p-Tortet
(E) Irvantad
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86.

87.

88.

89.

90.

91.

Fehling solution Ais
(A) Aqueous copper sulphate
(B) Alkaline potassium chloride

)
(C) Ammoniacal silver nitrate
(D) Rochelle salt
(E) Not attempted

Restriction enzyme belongs to a larger
class of enzymes called

(A) Lactases

(B) Amylases

(C) Nucleases

(D) None of the above

(E) Not attempted

Discontinuously synthesised fragments
are later joined by the enzyme

(A) Amylase (B) DNA ligase
(C) Isomerase (D) Lipase

(E) Not attempted

=P 3

[R1¥%

is called washing soda.
(A) Na2C03-10H20
(B) Na2C03-H20
(C) Na2003-4H20
(D) Na2C03-5H20
(E) Not attempted

[=]:1[=]

The Microsporangia develop further and
becomes

(A) Tapatum
(C) Pollen sac
(E) Not attempted

(B) Endodermis
(D) Receptacle

Amino acids are joined by which bond ?
(A) Hydrogen bond (B) Covalent bond

(C) Peptide bond (D) None of the above
(E) Not attempted

Join Telegram Group "HaryanadJobs.in"

86.

87.

88.

89.

90.
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Uh
o

4

91.
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,,ﬁ (A) UeH
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SC-T%

tpafem faead AR
mmm

(B) WW afi’il(lsg
(D) T T

(E) i

St G, TR A T 79 A |
s g, PR FER

(A) AR

4B) THTEA

(C) T |

(D) I & Hig Tl

(E) JTwRHd

SOTq ET Y EveNd ghS WG H

TSTEH g0 S8 91 2 |
(A) THEAS aﬁwwsﬁa
(D) U

(C)
(E) 3ToTia

o YTEd HIS %Ed ¢ |
(A) Na,CO_10H,0

(B) Na,CO_H,0

(C) Na,CO_-4H,0

(D) Na,CO,'5H,0

(E) T5=mtad

AT 3T faehfa Bt @ 3t =
STt 2

[(C)] T &t (D) TSTER

(SEEERIER
il 3 fohm sy % g ed # 7

(A) TGN 9 (B) wewdlsh §¢
[C) temesy (D) I HAPET
(E) 3rsrRmTfdra
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92. wire is stretched to make it 0.1%

Ifa
longer, its resi
(A) increase by 0.05 %

Y 0.05 %

stance will

(B) decrease b
(C) decreaseé by 0.2 %
(D) increase by 0.2 %
(E) Not attempted

Sperm formation continues even in old
men, but formation of ovum ceases in
women around the agé of

(A) Fifty years (B) Seventy years
(C) Sixty years (D) Forty years

(E) Not attempted

93.

The mass of an electron is

(A) 9.1094 x 10" kg
B) 9.1094 x 107%" kg
kg

94.

Th 1
iy
e

After which stage, cell walls are laid down
leading to the organisation of the typical

female gametophyte or embryo sac ?

95.

(A) 4 nucleate stage
(B) 8 nucleate stage
(C) 5 nucleate stage
(D) 64 nucleate stage
(E) Not attempted

96. In Rutherford scattering experiment, what
will be the correct angle for o scattering for

an impact parameterb =07
(A) 90° (B) 180°
(C) 0° (D) 270°

Join Telegram Group "HaryanaJobs.in"

sc-T09
NN
g2. M qr ) it 0.1% At <l ,Jg‘c
Mﬁmm%,?ﬁmmﬁm 47,
TESE(A) 0.05 o% &G % ¥
(B) 0.05 % T . /é
(C) 0.2 °/om %/1
(DY 0.2 % TG /
(E) I
wwm@@ﬁ +ft g &
B3 S 3 d $ o7 F
SrETTE ST i I o2 B I 8 |
[(a) 50 o (B) 70
(C) 60 oY (D) 40
(E)
o1, T T T R

0.1094 x 103" kg
(B) 9.1094 % 107%" kg

() —-6.1 % 103 kg

95.

(E) Not attempted
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97.

98.

99.

100.

By a cell a current of 0.9 A flows through
2 Q resistor and 0.3 A through 7 € resistor.
The internal resistance of the cell i

(A) 0.5Q (B) 2Q
C) 12Q (D) 1Q
(E) Not attempted

The menstrual flow results due to
breakdown of endometrial lining of the
uterus and its blood vessels which forms
liquid that comes out through

s

(A) Vagina

(B) Prostate gland ofD]
(C) Urethra

(D) Penis

(E) Not attempted

Which of the following binds to promoter
and initiates transcription (initiation) ?

{A) RNA polymerase

(B) Renin

(C) Restriction endonuclease
(D) Ligase

(E) Not attempted

is a radioactive isotope with
half-life 5770 years.

) 3cl
/(B) 145
C) *°cl
(D) None of these
(E) Not attempted

Join Telegram Groyp;'.'Ha\rly,améJob,sﬂr?" >
(SRS .

(=l

fﬂbﬂ

99.

100.

\ )
SC -
h Toy

A
97. UH ¥A g o.gAﬁga/znéasrhﬁua;

0.3 A forga 7 @ % st & w&dt R |
&1 ate gfedy 2

(A)]0.5 Q
(C) 12Q

(B) 2Q
(D) 1Q
(E) 3rs=frd

98. TN 3N Eh! T ATMEHIA b
Temfae eefim % e % HRO A

5T ST TETE BT 8, S Tk U Al S
M % eI @ e e 7 )
@zﬁﬁ

(B) W= UtH

(C) Tt

(D) fom

(E) ITtéa

frafafiga § & SH-T1 MER N i
3R TTERFEE (THW) 1 3R W ?
(A)] 3teAT g

(B) I

(C) wiqsiy Tei=ffeiua

(D) WIS

(E) TwTRad

___ 57709 & ulg & 91 T
HeArenfl wweenfaes ?

(A) 3¢l

(B) 14C

) %al

(D) T @ 1S T
(E) 3rsiyd
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